ZZZZZZZZZZZZZZZZZZZZ

What 15 an QQL‘.P{"C- PDE
A - P o) CLAO'K
B—?;%*'%:M 2 -D toisson equ

2XT —
Ctwown + B-C.s O\ st
Wand o  Ssdwe > L ! vau = pCx,9)

E’(/W/D/C‘ff—

yDiseriba e Gt
quh‘m: - ” o

- wﬁl{' 1Tla yperd 00 oL 4§« OPJU

> and Bolve + @Q?/Q&)fc?ﬂcéﬁy




E—{;—]dP ] A}E{)ﬁ“ ;4o O nt

J’QL - %@\)Q =0
CDJ‘L — j)vw M E Zi_“,\\z’}
v—-

§o w o’ s TN i 4
Qx&cj(‘ SolutTom o toa Aliscretc

Edblﬂ(%b7 (adr Lacsk Pﬁ"\mf(e>

Cbeu - ZzKaCﬁ Sa(uﬂﬁm

e appmsite st
\_SGQ CD(&( MQ’W

o I ot ol |
Je X ? [CDJ\*L o T C?\J 'L, C@jlguf CPJ'Q—L
old = pur)



@Jﬂ 7 ‘\q[«%l/ Residual _

ﬁ { L NxN) arid 1o
N((’Qf thd QLF/\] e duce -f(,«q_awar ]o&

ac Facr‘v\ c)’/ iOﬁf
;I\jww 2 opratims v @'(Nq)

O - H° = mg/zg 105""<LL
Sop. @(NB)

MULTIGRD  &-(N*?)

+A4ooco \J




